Soma dos Quadrados

¢ Algoritmo quadratico
¢ Percorre a lista duas vezes

square X = X*X
--sumsq que percorre duas vezes a lista

sumsgq = sum. map square
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¢ Especificagao

—-—especificagdo do sumsq

sumsq = fastsumsq
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[Int] Ul .1 4 Int x [Int]
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fastsumsq|Int] 1 + Int x [Int]

[, ()]

sumsq rd+id X sumsq

[Int] 1+ Int x Int

g=[91.92]
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